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AGRICULTURAL ENGINEERING (PAPER —1)

When flow parameters change with time but remain constant with space the flow is called
as:-

(@) Unsteady uniform flow (b)  Steady uniform flow
(c) Seady non-uniform flow (d) Unsteady non-uniform flow

A submersible pump may be:-
(@) Single stage pump (b) Multi stage pump
(©) Centrifugal pump (d) Both (a) and (b)

The high moisture grain should be kept in:-
(@) Air tight structure (b)  Aerated structure
(©) Pucca kothi (d) Gunny bags in closed room

Most commonly used storage structure by Food Corporation of India in India is:-
(@) Pusa bins (b) CAP storage
(c) Hapur bins (d) None of the above

Density of water is:-
(@) 1000 kg/m (b) 500 kg/nt
(c) 1500 kg/m (d) 2000 kg/m

LSU dryer was developed at:-
(@) London $ate University (b) Ludhiana $ate University
(©) Lucknow Sate University (d) None of the above

Specific enagy diagram is plotted between specific gyeand depth of flow for:-
(@) Variable dischaye (b) Constant dischge
(c) Constant Froude number (d) None of the above

Maximum recommended air temperature for drying of wheat is:-
(a 20°C (b) 40°C
(c) 60°C (d) 90°C

Desirable temperature for safe storage of potato is:-
(@) -4°C (b)y 8°C
(©) 12°C (d) None of the above
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(@) 1000 fhaI /&9 HIex (b) 500 fHARITH /G Hex
() 1500 fhaimd /&1 #Hiex (d) 2000 f&HemM™ /T Hex
TA. Q.Y gETa I3 DT fdprd 5 W R garr on—

(@) ied e FAERe (b) R W FaRie
() TGS W JAERIer (d) SRIGT H A BIs 7ol

faftre Sott &1 fo (umh) S fafdre Soff Ud 981 @ TexTs & A8 §9R ST ® fhd
JaRAT H BIAT Bi—

(@) d9%ed U 98 @ forg (b) Rer s8@ & forg

(c) Rer wSs = & forg (d) SR F A Pl 8!
I gAM T BT BT ATHTH qIH BT A1MeT—

(@)  20° Aferassd (b)  40° Aferaad

(c)  60° ufereaw (d)  90° Aferae™

3MTe] & FRIET WeRUl & oY ejdrel dT9H BT &

(@)  -4° AfenTad (b)  8° wferaaw

(c)  12° Aferaad (d) SRET T A PIg &
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Which'of the following is not a type of fluid flow?
(a) Steady (b) Direct
(©) Laminar (d) Compressible

In the cold storage, the storage temperature is normally:-
(@ -1°Cto10°C (b) 15°Cto 25°C
(c) 30°Cto40°C (d) 45°Cto55°C

Hullers are used to :-
(@) Boiling of rice (b) Remove husk from paddy
(©) Grinding of rice (d) Storage of rice

Unit of refrigeration is:-
(@)  Quintal (b) Gram
(© Kg (d) None of the above

One hectare is equal to:-
(@) 1000 square-m (b) 100 square-m
(©) 100000 square-m (d) None of the above

Fore sight is also known as
(@) Positive sight (b) Minus sight
(© Intermediate sight (d)  Vertical sight

Reduced level of a point is its height or depth above or below:-
(@) The ground surface (b)  The assumed datum
(© The line of collimation (d) Both (a) and (b)

Hygrophilic soils are those:-
(@)  which attract water (b)  which do not attract water

(© which transmit water (d)  which produce water

Froude number for a triangular channel is given as:-

V42 Y

(@ F= Jov ®)  F=gv
Y V2

(c) F= gAY d) F= ﬁ
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@ % (b) SRNEE
(c) THMMR (d) HRRIEA
11,  Plcs RO ¥ YR dTIHE BT & AHRId:—
(@ -1°C¥H10°C (by 15°CH25°C
(c) 30°C¥H40°C (d) 45°C¥55°C

12, TR & YT 9 & fore far Siram &
(@) dEad BT Sdre & forg (b) T | N AT A & forg
(c) dEd BT UZ~S B & foIg (d) T BT 4RO & foly

13, YHOoRIE (i) B Shrs B B
(a) fddca (by ™
(c) BT (d) SWRIGT H A BIg 78!

14. U ZIIN &%l )& BIdl B
(@) 1000 & Hex (b) 100 T HeR
(c) 100000 G Hrex (d) SR T A Pl 8!

15.  IUGRC Bl 3 b M H SIHT ST 8-

(@ g gfe (b)  FoTEH ghe
(c) #uH gfe (d) SwkR 3fe
16. B g &1 woIa 9 791 7 9 | 9 918 A1 TTERIg JMMaT SR AT A1 BIAT 5
(@) ST AdE 9| (b) HT MR WA
() BN &I &M | (d) <M (a) T@ (b)
17.  EISUIKfeld ¥aT 98 Bl © oil—
(@) ST BT gHIfRd Bl ® (b) A BT FHIRT TR Rl B
(c) ST &7 AR B_ell & (d) STl BT IUTEH HRaAl &

18.  RGTR A6l & oy WSS W1 o1d &1 9l 2 fhad—

VA2 v

(@ F= Joy (b) F= Jay
V V2

(c0 F= gAY (d F= ﬁ
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In building material RCC stands for:-
(@) Revised cost calculation (b) Revised construction cost
(© Reinforced central construction (d) None of the above

For slabs and beams, the following grade of concrete mix generally used:-
(a) 1:3:6 (b) 1:4:8
(© 1:5:10 (d) None of the above

A laminar flow is associated:to

(@) Low flow velocity

(b) Moving of fluid without lateral mixing
(© Absence of eddies

(d)  All above

A uniform flow generally occurs in

(@)  Aninclined channel of constant bed slope
(b)  Alevel channel

(© A channel with negative slope

(d)  All of the above

The Mannings roughness (n) decreases with
(a) Decrease in flow depth (b) Increase in flow depth
(© Decrease in turbulence (d) Both (b) and (c)

At the critical flow condition the velocity head is equal-to
(a) Half of the flow depth

(b) Half of the hydraulic depth

(©) Two times of hydraulic radius

(d) None of the above

Dimension of dynamic viscosity are
(@) MLT? (b)  MLT*
(c) ML-T (dy MLT

Bernoulli’'s equation is applicable fer
(@) Frictionless steady flow (b) Incompressible flow
(© Ideal flow (d) Both (a) and (b)

A trapezoidal weir is said to be cipolettie when its side slope is
(@ tan(©/2)=1/4 (b) 0°=30°
(© sing =1/4 (d) None of the above
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RGN @ fAToT Terelt § IR BT I arad -
(@) AESE PRE HABAI (b) NaESE FAECHIT BRT

(c) RTTHNS Agd hacddd (d) SRIGT H A BIg 78!

Tid 3R 9 & U AR WR thidie &1 71 38101 =T o ofrar Sirar g—
(@) 1:3:6 (b) 1:4:8
() 1:5:10 (d) SR F A Plg 8
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(@) & garg Tfa |

(b)  &a BT AT fAl oAl S0 @& ST 9g ¥
(€) TSN () 1 SrguRefa

d) SRET T F

g WA 9819 (JFHH dell) gfed gar g

(@) US Pl g8 faAIerd NadT I &I el ReR 2
(b) TP SRR ATl (oldel oied) |

(c) UTH ATell fTH o eTdt &1

d) SREd T F

AT ETdT ol ([ DIBRIAC) BT A9 "edl &
(@) UMl @ 9819 DI TS HH eH A (b) UMl & 981 I eI 98 |
(c) UMl @ 9819 &I IUYAT HH 8- A (d)  SWiaq (b) 3R (¢) < 9

wifdd varg o Rerfa § a1 I @R 2<) 91 & sR1eR 2rar 8~
(@) U & YaATg @I AN TETS b

(b) I o @Esifas Meo™) & R &

(c) =dr B (Brssifors eaw) & a1 H &

(d) SWRIFT A q PIg T2

T TaHar (SRfHHeG @I & | Bkl &

(@) ML-T? (b) MLT?

€)  MLTT d)  MLT

el BT TR f94 # o] BT 8-

(@) =N A ReRr (SN) d8ra # (b) <919 A 98 H

(c)  amast gud d) SWE (a) AR (b) I

TP FAGTIHR dRR (SUsarged dRR) &I Riiferd! dRR $ed © STdfdh 9@ Ured erd
BIAT T

(@) tan (0/2) = 1/4 (b) p° =30°

(c)  sinp =1/4 (d) SWREdH A PIg &
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28.  Frictional head loss in a pipe is directly proportionatto
(a) Length of pipe (b) Diameter of pipe
(© Both of the above (d) None of the above

29.  Current meters are used to determine
(a) Flow type (b) Flow turbulence
(© Flow direction (d) Flow velocity

30. Seepage force always acts-n
(@) Upward direction (b) Downward direction
(© In the direction of flow (d) In the opposite direction of flow

31. The weight of the fluid per unit volume is also called
(a)  Specific volume (b)  Specific weight
(© Density (d) None of the above

32.  The dynamic viscosity of a fluid expressed as ‘poise’ equals to
(@) 10 Newton second per’m (b) 1 Newton second per?m
(© 1 Newton - meter per second (d) 0.1 Newton - second perm

33. The flow is said to be turbulent if the Reynold number in a pipe is
() 5000 (b) 1800
(c) 1500 (d) 1000

34. Bernoulli's equation is related:to
(@) Mass conservation (b) Enegy balance
(©) Heat conservation (d)  Water conservation

35. Ratio of buoyant forces to the viscous forces of the fluid flow is known as
(@) Prandlt number (b)  Grashof number
(© Reynolds number (d) None of the above

36.  Friction factor is important parameter particularly-in
(a) Laminar flow (b) Turbulent flow
(© Viscous flow (d)  Vertical flow

37.  Venturimeter is used to measure flow of fluids in pipes when pipe is
(a) Horizontal (b) Vertical downward
(© Vertical upward (d) In any position
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(c) =g (d) SWRIGT H F B3 78

ufgs 7 Sl Y e —TIAT B 39 UBR A1 ST ST g
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(@ 5000 (b) 1800

(c) 1500 (d) 1000

ATl FHIERY = ¥ fha § awfa g
(@) = (A1) WReTT (b) Sl Hger
()  STAT GRETT (d)  SToT =&

Sq YaTe H ScIaT gl AT AT gl D U Dl fb=d T4 I ST Sl 28—
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(@) <FER (Ucel) vars (b) ST g

(c) M varE (d) SeafeR yare

I AT BT YANT Aol § RSl & Jarg &l A9 & o1y fhar Sirar 8 59 u1sy @l
Rerfer gr—

(@) &R (b) SRR S F IR

(c) SWlER FW Bl 3R (d) T 1 Rerfa 7 &

ESE-10 © Series-A



38.  Under'open flow conditions, the hydraulic jump is formed when the Froude number is
(@) Equal to one (b) More than one
(©) Less than one (d) None of the above

39. At critical depth of flow—
(@)  Specific enagy is minimum (b)  Specific enagy is maximum
(© Both (a) and (b) (d) None of the above

40.  If a fluid which possess some viscosity is knownr-as
(@) Real fluid (b) Imaginary fluid
(©) Specific fluid (d) None of the above

41.  Alarge Reynolds number is indication of
(@) Highly turbulent flow (b) Laminar flow

(©) Steady flow (d) Smooth and stream line flow

42.  The flow in the open channel may be characterized as laminar flow when Reynottber

IS—
(@) Re <500 (b) Re > 2000
(c) Re > 1000 (d) Re > 800

43. One stoke is equal:te
(@) 1 n?/s (b) 0.1nt/s
(c) 1 x 10 nv¥/s (d) 1x10*m?/s

44.  The velocity of water through a circular channel will be maximum when the depth of water
iS—

(@)  0.95 times the diameter of channglb)  0.81 times the diameter of channel

(© 0.67 times the diameter of channg(d) 0.50 times the diameter of channel

45.  Absolute pressure is equalHo
(@) Gauge pressureAtmospheric pressure
(b) Gauge pressureWacuum Pressure
(©) Atmospheric pressure + Gauge pressure
(d)  Atmospheric pressure - Gauge pressure

46. Hydrostatic pressure at a point ‘h’ meter below the top surface of a liquid with specific
weight ‘o’ will be:—
(@) /h (b) +h
(c) h (d) h?

47.  The dimension of specific gravity are
(@) MLT (b) ML2T
(c) ML (d) None
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39. YdIE P Hifdd TEls WRi—
(a) fafdre Foit =Faw e @ (b) fafdre ot arfdpaw il 2
€) () 3R (b) T (d) SWREdHF P T8
40. IR UP %9 ST & HB T IA © SH PEd o
(a) dRdfdd %a (b) HTAND &4
(c) fafRre =@ (d) SWRIGd H A BIg a8l
4. TP FI NATee T GAd g
(@) 3ifd facerg yare @ (b) UCHY YaTE B
(c)  |ddq Yarg ol (d) =T U9 A< Yarg @
42, Gl AP & a8 B USelI YaTe H Figd (AT S Fhal & Ife XATdTs A& 5
(@) XATeTs AT 500 & BH (b) AT T 2000 W 2AfRTH
(c)  TeTs AT 1000 W 31fSdH (d) ATt H%IT 800 ¥ 2ferd
43.  TH WCIh Hedl g—
(@) 1 nv/s (b) 0.1nt/s
(c) 1x102 n¥/s (d) 1x10* n¥/s
44. U JATBR ATl H STl B T TAHTH R S STl Bl Te0s BRI ATell & AN di—
(@) 095 I (b) 081 T
(c) 0.67 T[T (d) 050 T
45.  fRUeT T9m@ BT T
(@) ISl SEI—argHYSH R qaTd
(b) IS TEre+HarT g9
(c) dg TEAIHIS SdTd
(d) dg AP 41
46. fafdre g9 a1 59 # ‘h’ Hiex TERIE R I 16l T16 B
(@) /h (b) +h
(c) h (d) h?
47, faRre o @1 fomr 5—
(@  MLT (b)  ML2T
(c) ML? d)y @IS &
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48.  The hydraulic radius for a fully flowing pipe of 1 meter diameter wiH-be
(a) 1 meter (b) 0.5 meter
(© 0.25 meter (d) 2.0 meter

49.  Mannings formula for mean flow velocity:is

@ V=C (b) V= /8gRS/
1o32c12 1.23c12
€ Vv=_R"S (d) Vv=—-RS

whereV = velocity of flow m/s
R = hydraulic radius, m

S = slope

n, f, g, ¢ = constants

50. The Force per unit area in fluids is exerted
(a) In all directions (b) Lower depths
(©) Horizontal ways (d) Upward

51. The length of Guntés chain is-
(a) 100 feet (b) 50 feet
(© 66 feet (d) 75 feet

52. Length of a metric chain:is
(a) 1m (b) 20m
(©) 50m (d) 100 m

53. The bench mark fixed at the end of a dayf survey work is called
(a) Permanent bench mark (b)  Arbitrary bench mark
(©) Temporary bench mark (d) None of the above

54. The imaginary line joining the geographical North and South is known as
(@) Geographical meridian (b) Magnetic meridian
(©) Arbitrary meridian (d)  All of the above

55.  The bearing of linéB is 40° 26'10" and bearing oAC is 140°30'40". What will be angle
between line&B andAC?

(a)  180° 56'50" (b)  130°26'10"
(c)  100° 4 (d) 230°4
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T Alek @& & QU JaTg drel UIsy &l gdr e enii—
(@ 1 #HIX (b) 05 #HIX
(c) 025 #HeR (d) 20 Hex

3T g81d Bl T ST bR @ forg Hi T g e g

(@ V=CJRs (b) V= .8gRS/
1 1
© V= HRWSJ/2 d) V= HR%SM

S| V = 981d B i
R = gesiferd 3o

S =@l

n, f, g, c =ReRT®H

2d P Ul SPIs &bl TR dcl BT 91T aidl gi—

(@) 1 feemmen # (b)y = P TS A
c) af @1 3R d) IR B IR
TR o9 Pl AFTg B o

(@ 100 | (b) 50 B

(c) 66 %e d) 75w

U Afedh o P THTE Bl Bi—

(@ 1 ¥R (b) 20 #Hiex

(c) 50 #Hiex (d) 100 Hex

frdl vop a1 & wderor & o # MEiRT fby U 9a e (9 A1) & $ed o

(@) ¥ dd = (b) Wise doifRre

(c) oM dalfzrs (d) SWREdHAF DS TR

IE PICUMD AT T gedl & WIiford IR d SIET BT HARN 8, HeaAdl 5—
(@)  Hrmferd IRIRR (b) FEDHI IR

(c) <Wfsd ImIRR (d) SHRIEd T

X@T AB &7 fSHHAM 40° 26'10" 2 Td @ AC &1 @A 140°30'40" & AT v&@mRii AB
g AC & d1 BT I AT 8-

(a) 180° 56 50" (b)  130° 26'10"
(c) 100°4' d) 230°4'
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56. Alidade is an important instrument used in which survey?

(@) Plane table survey (b) Chain survey
(©) Theodolite survey (d) Compass survey
57. Instrument used for measurement of areas of figure having irregular boundaries are
(&) Anemometer (b) Planimeter
(©) Rolling meter (d)  All of the above

58. Mannings formula is used to determine flow velocity in which type of flow
(@) Rapidly varied flow
(b) Non-uniform flow
(© Uniform flow
(d) Critical flow

59. At critical state of flow the kinetic engy of flow is equal te-
(@)  One fourth of its potential ergyy  (b)  One half of its potential engy
(© One third of its potential engy (d)  One fifth of its potential engy

60. In general, the curing of concrete should be continued for the duration of
(@) 1 to 2 days (b) 3to5days
(© 15 to 20 days (d) 7 to 10 days

61. The hydraulic radius (R) of a channel in terms of its wetted perimeter (P) and cross sectional
area (A) is given or
(@ R=AxP (b) R=P/A
(c) R=A/P (d R=A%/P

62. Hydraulic jump formula is based en
(@) Froude number of flow (b) Reynold number of flow
(© Critical number of flow (d)  Specific number of flow

63. For an average size family of five members including two adults and three children, the
capacity of septic tank should be kept about

(@) 1.8 cubic m (b) 2.8 cubicm
(© 3.8 cubic m (d) 4.8 cubicm

64.  Which of the following is not a method of seasoning of wood?
(&)  Water seasoning (b)  Air seasoning
(© Pneumatic seasoning (d) Kiln seasoning
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56.  Vfores Ueh Agcqayel I & Sff f6 f71 & 9 fhd <qderor # v giar 8-

(8)  ueoT deror # (b) = Hderor §
(c) fraierge Adeor # (d) oo g e |
57. QUG of & Srf=afia <fmet arel o &1 eFhet A & forw vInT o Srer 2
(@)  TIHMIER (b) R
(c)  <ffermiex (d)  SWRIad T

58. 981G @l TRT S & =g AT &1 A {59 TR & 9819 & forw vanT 8ar &—
(@) g Arar ol ¥ ded gV 98 b oy
(b)  eEE 98d & forg
(c) AW ¥8[d & foru
(d) oIfd® 98 & forg

50.  9BId DI HIfd IfARAT H BT DI T SHoll a-aR BT g
(@) S9o Rfas ot &1t drens (b)) S9d! R Sl &1 amen
(c) Suo Refas &off &1 td foere (d) S9! Rafos Sl &1 urfar ¥t
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65.

66.

67.

68.

69.

70.

71.

72.

73.

In a mortay the common ratio of cement to sane is
(@) 1:3 (b) 1:6
(© 1:4 (d) 1:8

The section factor#) for uniform flow condition is given as
@ Z=AR" ()  =AR™®
©) =AR%® (d) =AR??

A = Cross sectional area
R = Hydraulic radius

Surkhi as a building material can be used as a substitute for
(a Sand (b) Seel
(© Cement (d) Lime

Compressive strength of concrete generally ranges between
(@) 50-100 kg/crn (b) 150 — 200 kg/crh
(©) 300 — 700 kg/crh (d) 800 - 1000 kg/ch

Pure lime contains

(@  95% or more Calcium oxide

(b) More than 25% Magnesium oxide
(© Less than 50% Calcium oxide

(d) Less than 25% Magnesium oxide

The Bio chemical oxygen demand (BOD) of domestic sewage ranges-from
(a) 100 — 200 mg/litre (b) 150 — 200 mg/litre
(© 250 — 400 mg/litre (d) 500 - 1000 mg/litre

Flush doors are becoming more popular due to
(@)  Greater durability (b)  Greater weight
(© Better look (d) None of the above

The following type of mortar may be used in brick masorary
(@) Lime mortar (b) Mud mortar
(© Cement — lime mortar (d)  All of the above

Rapid hardening Portland cement is manufactured by
(@) Fusing together lime stone and shale

(b) At extremely high temperature cement clirger

(c) Gypsum is added in small quantities to this clinker
(d)  All of the above process
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65.

66.

67.

68.

69.

70.

71.

72.

73.

TP ARCR ¥ HH 31X dre] &I MR 31U 8l o
@ 1:3 ) 1:6
() 1:4 (d 1:8

HASY JB1d DI AIRAT § HaqT Ureb () PI T 5
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FeTel gRaT 9 # 9 {5 dRoT 9 31fdd gaferd & @ g

(@) 3P WG & BRI (b) 3B IR & HRO
(c) deR fe@mar & &R (d) SR T A Pl 8!
sc foFTE &g 1 9 9 o AIck &1 WA S waar g

(@ A AR (b) fed A

(c) M= T AR (d) SWREdH d T

TS BT U v W= q9RIT STl g

(@) T (ASA—CH) AR A DI Th AT HIS BRD
(b)  3M¥d TAUHM R A< fhfe-hr a1 TR

(c) R &1 R—R &9 A= 7 fBfermr & fer o=
(d) ST T uf &
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74.

75.

76.

77.

78.

79.

80.

81.

82.

All natural channels are generaty
(@) Non-prismatic (b) Prismatic
(© Ideal (d) None of the above

D.RC is provided throughout the width of plinth for the entire building to prevent
(@) Heating of building (b) Cooling of the building
(© To prevent dampness in the buildifd)  Stop the theft

A good building stone should have
(@) Strength (b)  Good appearance and color
(© Resistance to fire (d)  All above three

A fluid flow is said to be ideal or perfect when it has
(@) No frictional efect between moving fluid

(b) Viscosity

(©) Turbulence

(d) Temperature éd#ct

Which one of the following is fluidised solid?
(a) Flour (b) Fruit juice
(©) Honey (d) Carbon di oxide

At critical flow condition, the section factor Q can be expressed-as
@  Z.=Q%/g (b)  Z,=Q/\g

() 2Z.=Qlg d Z.=Q/g'®
Where Q - dischage
g “Acceleration due to gravity

The function of the cutting fluid in Lathe machine is-to
(@) Cool the tool and work piece (b) Provide the lubrication
(©) Improve surface finish (d) All of the above

Closed impellor is suitable to handle the liquids of type
(@) Viscous (b) Non-viscous
(© Dense (d)  Thin

Barbed wire is generally made of wire with gauge of about
(@ 8 (b) 10
(c) 12 (dy 14
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75.

76.

77.

78.

79.

80.

81.

82.

AT Al T iferdt Bl g
@ s () A
(c)  amey (d) SWREd A F Blg 8l

fafesTT @1 forer o @ Irerg & STAAL & v BT bl & foTQ fbar SIem &—
(@) fafesT &1 =R\ W@ @ forg (b) RfeET &1 31 W @ forw
(c) fafesT & 7 &1 A & forg (d) fIfeST & oY @1 Apw & forw

U 30 fafesT ger § BT arfeu—
(@)  woigd (b) 3w 9T &R Rame
(c) T ufcREd (d)  SWIgd d=!

U o YdIg Pl <3 AT II9 Hhal off Fhdl & dfe—
(@) varRd ga # =41 BT T BT

(b) SDIERINCARE]

(c)  omId 8T

(d) dTghH BT JHTT B

frfaRad § & 1 gy o3 22—
(@  3fer (b) T BT RA
(c) &g (d) FET SE RIS

81T B DI ARyl ¥, AR Bex () DI TUTAT S Fehell 8-

@  Z:=Q%g ®)  z.=Q/g
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(@) 8 (b) 10
© 12 d) 14

ESE-10 19 Series-A



83.

84.

85.

86.

87.

88.

89.

90.

91.

A thin layer of coal tar is applied on the surface of timberfor
(@) Protection from rains (b) Preservation
(© Insect-resistance (d)  All of the above

Farmstead should be located near the source of permanent
(@) Road (b)  School
(© Water supply (d)  All above three

Which one of the following is not the sanitary fittings?
(@) Wash basin (b)  Sink
(© Flushing cistern (d) Dustbin

Static head of a pump is equal+o

(@) Sum of suction head and delivery head

(b) Suction head

(©) Delivery head

(d) Difference of delivery head and suction head

For steel casting following type of sand is better
(@) Medium grain sand (b) Fine grain sand
(©) Coarse sand (d) None of the above

Grouting uses grout which is a mixture-of

(@) 1 part cement : 2 part sand :fsziént water
(b) 1 part cement : 3 part sand : 5 part water
(© 2 part cement : 5 part sand : 10 part water
(d) 2 part cement : 2 part sand : 3 part water

Seasoning of timber is done-to
(@) Make it water proof (b)  Add moisture in timber
(© Heat the timber (d) Expel the moisture from timber

Wood for pattern is considered dry when moisture content is
(a) Less than 15 percent (b) More than 50 percent
(© Zero percent (d) Less than 50 percent

Semi open impeller is used fer
(@) Clean water (b) Hot water
(© Sewage water (d) None of these
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83.

84.

85.

86.

87.

88.

89.

90.

91.
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92.

93.

94.

95.

96.

97.

98.

99.

100.

101.

For which type of pump verticality of tube well is critieal
(@  Jet pump

(b) Submersible pump

(© Directly connected centrifugal pump

(d) Reciprocating pump

The parameter which is least important for a selection of pump is
(a) Dischage (b) Horse power
(© Head (d)  Quality of water

The relationship to determine break horse power in a centrifugal pump is
(@)  Water horse power x pumpfiefency

(b) Water horse powerpump eficiency

(© Water horse power pump eficiency

(d) Pump eficiency/ water horse power

Water can be lifted from a depth beyond 45 meter by
(@) Centrifugal pump (b) Jet pump
(© Submersible pump (d) None of the above

The hand pump used in houses is a type of pump
(@)  Submersible pump (b) Reciprocating pump
(©) Centrifugal pump (d) Jet pump

Practically the suction head of a centrifugal pump should not exceed
(@) 8 meters (b) 12.5 meters
(© 32.5 meters (d) 13.20 meters

Nozzle and venturi are main components- of
(a) Centrifugal pump (b) Jet pump
(© Reciprocating pump (d)  Submersible pump

If a chain is too long, the measured distance will be less than actual, then the correction will
be—

(@) Can be negative or positive (b) Zero

(©) Negative only (d) Positive only

Reciprocating pumps are found to be best suited for
(@) Low dischage and high heads (b) Low dischage and low heads
(©) High dischage and high heads  (d) High dischage and low heads

High lift centrifugal pump are generally
(@) Multi stage pumps (b) Used in deep wells
(© Both (a) and (b) (d)  Single stage pumps
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102. In the centrifugal pump, the liquid enters throzgh
(@) Eye of the impeller (b) Delivery pipe
(©) By-pass line (d) None of the above

103. Axial flow pump delivers lage quantity of water at
(@) High heads (b) Medium heads
(© Low heads (d)  Zero heads

104. Which of the following type of impeller is used for centrifugal pump dealing with-mud
(@) One side shrouded (b)  Two side shrouded
(© Double action (d)  Open from both side

105. Quick sand is a state:ef
(@) Flow (b) Land slide
(© Land Levelling (d) None of the above

106. Filling water before its operation in a centrifugal pump is called
(@)  Testing of pump (b) Enegizing of pump
(© Priming of pump (d)  All of the above

107. Propeller pumps are used:for
(@) Low head and low dischge (b) Low head and high dischge
(©) High head and low dischge (d) High head and high disclpe

108. If a pump vibrates, the possible reasons may be
(@) Misalignment (b) Poor suction conditions
(© Bearing failure (d)  All of the above

109. In centrifugal pumps, the number of vanes made in impeller variesfrom
(@) 3tol2 (b) 5to10
(© 10to 12 (d) 71012

110. Handersors equation is used to determine
(@) Critical duration of storage (b) Critical depth of flow

(©) Critical temperature (d) None of the above

111. The vertical height to which the liquid can be raised by the pump above center line of pump

is called—
(a) Suction head (b) Total head
(© Dischage head (d)  Total differential head
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112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

Separation of grains by screening is done onithe basis of
(@) Size (b) Colour
(© Texture (d)  Weight

Which of the following is not a type of impeller of a centrifugal pump
(@) Semi-open (b) Closed
(©) Open (d) High speed

Dischage of reciprocating pump is constant regardless of
(@) Temperature (b) Speed
(© Delivery head (d)  Suction head

Most eficient channel section:is
(@)  Triangular (b)  Trapezoidal
(© Rectangular (d)  Semi circular

The type of survey in which the shape of earth is taken into account is<alled
(@)  Geodetic survey (b) Curvature surface
(©) Precise survey (d)  Allabove

If the moisture content is 20% on wet ba$ise moisture content on dry basis will:be
@ 5% (b) 15%
(c) 35% (d) 25%

In thin layer drying the grain depth is limited up-to
(@  20cm (b)  30cm
(© 40cm (d)  50cm

Which of the following is not an EMC model ?
(@) Kelvin equation (b) Harkins-Jura equation
(©) Rankine equation (d) Henderson equation

Which of the following is not a type of grinder?
(&)  Attrition mill (b) Burr mill
(© Hammer mill (d)  Solvent extraction mill

In commercial rotary dryers the length of drum-is
(@) From 3 to 6m (b) From 8 to 1m
(© From 13 to 16m (d) From 18 to 21m

Which of the following is not a part of a hammer mill?
(@) Rotor (b) Cast iron plates
(©) Hammer (d) Screen
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123. The drier which uses the principle of thin layer drying is known as
(@) Baffle type dryer (b)  Sack dryer
(©) Continuous flow dryer (d) Batch type dryer

124. What will be the equivalent pressure head of kerosene if its specific gravity of 0.81, if water
pressure head is 100m

(a) 123.46m (b) 184.36m
(© 81.0m (d) 162.0m

125. Which is not the method for drawing flow nets
(@)  Analytical method (b)  Graphical method
(©) Electrical analogy method (d) Curve fitting method

126. Pitot tube is a simple device used to measure
(@) Density of flow (b)  Velocity of flow
(©) Type of flow (d) None of the above

127. Post harvest losses of fruits and vegetables in handling is-about
@ 35% (b) 40%
(c) 45% (d) 50%

128. For maximum dischge in a circular channel the depth of flow should be equal to
(@) 0.70 times diameter (b) 0.95 times diameter
(© 0.82 times diameter (d) 1.15 times diameter

129. Parboiling of rice before milling is done+o
(@) Decrease nutritional value (b) No change in nutritional value
(©) Decrease of yield (d) Increase nutritional value

130. The size of the food grains in attrition mill is reduced-by
(@)  Shear and crushing (b) Impact and shear
(© Impact and crushing (d) Impact only

131. Generally the frozen food are stored at a temperature of
(@ 0°C (b) -4°C
(c) -8°C (d) -18°C
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132. In a batch type pasteurizenilk is heated at
(@) 61°C for 30 minutes
(b) 61°C for 30 seconds
(© 40°C for 15 minutes
(d)  40°C for 15 seconds

133. The amount of heat required to raise the temperature of 1gm milk by one degree celsius in
comparison to water:is

(a) 85% (b) 93%
) 107% (d)  100%

134. In a ball mill or pebble mill, most of the size reduction is done by
(@)  Shearing (b) Cutting
(©) Impact (d) Crushing

135. Dryers utilizing high gas temperature of 500°C or more. But for short exposure time are

called—
(@) Fluidized bed dryers (b) Flash dryers
(© Turbo dryers (d) Drum dryers

136. Hydraulic jump is based on the principle-of
(@) Enegy conservation (b)  Velocity conservation
(© Momentum conservation (d)  Turbulence conservation

137. The moisture accumulation in a grain mass stored for a long time when outside environment
is hot, taken place :at

(@) Top surface (b) Bottom surface
(© Middle surface (d) Near the walls

138. One atmospheric pressure is equal to
(@ 1.0 kg/cnd (b) 1.0 kg/n%
(c) 1.0 ton/nd (d) 1.0 N/n%

139. The temperature range for ultra high temperature (UHT) sterilization of milk is
(& 90-100°C (b) 105 - 15°C
(© 135 - 150°C (d) None of these

140. Which standard is applied in International trade of agri-food commodities
(a) B.l.S. (b) Codex-Alimenta
(©) Agmark (d) None of above
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132.

133.

134.

135.

136.

137.

138.

139.

140.

9 UHR P UIRARGOR H g DI TRH [bAT STl g—
(@) 61° oo R 30 fafe & o
(b) 61° AfeRTTNT W 30 Fave & foy
(c)  40° Jferad wR 15 fAfre & forw
(d)  40° AfeRTTNT W 15 AbvS & oIy

T UH Y BT YA T B AT H 1° Al 9 § SHoll dl AT Bl ATaedhdl
Bl B—

(@) 85 Hfcrerd (b) 93 ufcrera

(c) 107 faerd (d) 100 wfcrera

U q7eT fBer a1 Yaet e A SR BT BIel &rAT 7 8 4 fbd R F 8idr g—
(@) Rl (b) BT (@ @ fpar )

(c) sHa (dic ugdr ) (d) T (e gr)

Yheh (STAR) S I=a 19 AmAE 500°C A1 IS Af¥d BT STANT HH F9I & forg

BN & ST hEd g—

(a) TAISISulE d€ SRR (b) T ERR
(€) T SRR (d) $M SRR
a1 IBTe b Rigld WR amenRa g—

(@)  SHofl HREToT (b) T AR
(C) T ERET (d)  veer wRer

A hifeld TS WeRUT § Ife X BT ITdaRoT TH 2 dl =9 BT T 2T ATATIC:
qrIT SIdT g—

(@ SN IdE W (b) 9 &I BT A8
(c) ¥ g (dy <rara & U

T arg USRI Q19 [ & aRTER BT T

(@ 1.0 fhar /M2 (b) 1.0 fehaT /N2

() 1.0 TA/M2 (d)y 1.0 g1/ 9P

Y BT T AT VAR & ol qroHE &) 91 Bl g

(@)  90—100°C (b)  105—115° C

(c)  135-150° C (d) SR F A Plg 8
PN—TIGT TR & JRTEI AR H DI AT 7D AF] o

(@) drersTd. (b) PRV

(c) TS (d) SR T A Pl 8!
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141.

142.

143.

144.

145.

146.

147.

148.

Brine is solution of-
(@)  Sodium chloride in water (b)  Sugar + Magnesium chloride in water
(© Calcium chloride in water (d) None of the above

In rice polishing is done for the following jeb

(@) A coating is applied on the outer surface of brown rice
(b)  Alayer of bran is removed form brown rice

(©) A layer of starch is removed

(d) Only husk is removed

The thermal destruction of microgamisms can be expressed as following where
N =Viable oganism at any time

N,= Organism present initially

t, k = Constants

dN
(@) = - kN () —- =2kN
dt
dN
(© i k (d) None of the above

Which of the following process is used to separate liquids havifegetit boiling points-
(@) Crystalization (b) Fractional distillation
(© Evaporation (d) Fractional crystallization

The bimetal thermometers are used at temperature rage of
(@) 500°Cto-12°C (b)  500°Cto -185°C
(c) 538°Cto-185°C (d) 538°Cto-285°C

Types of liquid — liquid emulsion:is
(a) Milk (b)  Water
(©) Sugarcane juice (d) Oil

Necessary hopper slope angles to achieve reliable mass fHow is
(@) 30°-40° (b)  40°-50°
(©) 60°-70° (d) None of the above

To prevent spoilage, silage should be removed at the rate of
(@) 5 cm/day (b) 10 cm/day
(©) 15 cm/day (d) 20 cm/day
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141.

142.

143.

144.

145.

146.

147.

148.

EIERRCI

(@) ST H A B

(b) ST H IHT AT HIRIH FARSS Bl
(c) I H Do FRES BT

(d) SR A A BIS 8

AT BT AT § =1 S fhar mar 8-

(@) FST Aad P HUN Adg R PIST Y Sl &
(b)  FTSH TE A M BT d8 dTell Sl

(c) ¥H &I e a8 el Rl §

(d) Dad o (5%6) e smar @

Y gRT e Siidl & 979 &7 & q=Iiam ST 28—
gfe N = f&a a9 SuRera i
Nozwﬁwﬁ%\—:ﬁa

t, k = ReRi®
dN dN
(@ g4 =" KN? (b) g =2kN
dN
(© 4 =k (d) SR A P T

fafy=1 oM am (arEafeln) Rew arel gar B foa fafdr | st fHar Siar 8—

(@) ol (b)  o7f¥r® amAa

(c)  ardiRor (d) i fheeforaxo
feeng emiier fra amuw mr & forg STIRT fo5d i 28—

(@) 50°C H-12°C (b)  500°C ¥-185°C

(c) 538°C ¥-185°C (d)  538°C ¥-285°C

IRA—aRol U1l SHoIT & TP o—

(@ (b) NI

(c) T &9 (dy dd

JNMATIHAT gl DIV, fIvaa- GIA YdTg Ui & & foly T—

(@)  30°—40° (b)  40°—50°

(c)  60°—70° (d) SR T A Pl 8!
ATSerol ¥ GEUT &l e & oy g9 719 &% | SUIRT kAT arfedi—
(@ 5 9H. /3 (by 10 wHL/fe=

(c) 15 9HL/fem (d) 20 uwHL/fe
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149.

150.

151.

152.

153.

154.

155.

156.

157.

Pressure drop in fluid flow through granular material is best estimated by
(@) Black - Kozney equation (b) Burke - Plummer equation
(c) Ergun equation (d) Fourrier

Rat proofing cones are provided in grain storage structures at a height of
@ 09m (b) 1.2m
(c) 15m (d) 1.8 m

Safe moisture content of paddy for storage over one year is
(@ 10% (b)y 11%
(c) 12% (d 13%

Angle of repose of wheat grain falls in the range of
(@) 18°— 20° (b) 23°-28°
(c) 30°-40° (d) 33°-44°

In cold storage, apples can be safely stored for the following period
(@) 5 months (b) 10 months
(c) 15 months (d) 20 months

Froude number is the ratio between
(@) Inertia force to viscous forces (b) Inertia force to gravity force
(c) Inertia force to shear force (d)  Gravity force to inertia force

Height of instrument method is used for determination of
(@) Reduced level (b) Dischage
(c) Flow velocity (d) Back bearing

A pump may fail to prime due te

(@) Air leakage in suction line or pump
(b) Foot value may be leaking

(©) Leakage in rotary shaft seals

(d)  All of the above

Spread footing is that which support the following
(@  Wall and column (b)  Wall only
(c) Column only (d) None of the above
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149. TFGR HIEZH ¥ YAIRd &9 & Ydlg @ Q14 H HHILdI TN [ H F [hF G §RT @l

ST B
(@)  =IH—DISTl HHDHRT (b) NH—HR FHIHI]
(c) T HHIHROT (d) ®HRR FHiERoT

150. TS WUSR WA H Rl Bl A1 & ol ¥q (cones)fdhd Halg IR T

S B—
(@) 0.9m (b) 1.2m
(c) 1.5m (d) 1.8m

151, Teb q¥ ¥ 3Afdeh WUSRYl & fory e ol GRierd = gl =nfey—
(@) 10% ) 11%
) 12% d)  13%

152.  AE & <Ml @ fog Rurs @ior grar g—
(@)  18°— 20° (b)  23°—28°
(€)  30°-40° d) 33°-44°

153. ¥ SR # W BT 7 99 T GRAT 3@ Fdhd o—

(@ 57 (b) 10 WEN
(c) 15 A8 (d) 20 FEH
154.  ThISS AT fhds 4/ &1 rud g—
(@) IS 9o TG Tl 9 B (b) IS I T4 [od 9A D
(c) TS 9of Ud AR 9f & (d) 7o 9 T4 W$A A B

155. I35 DI Hdlg A B TIRT I ST R & foIv @1 S1ar g—
(2) S § (b) 8@ w®
(c)  ¥arg o (d) ufw sfae

156. U H USFHT Bt 89 & HRUT B Adhd 8—
(@)  TUUT TS 3fAT U H ool BT
(b) e Ay DI ol BIFI
() ed Ive A o1 Ad AT
(d) SR T & BRI

157. el dlell B g8 & Sl (%1 I A8dINT Bl 8-
(@) AR TRAT W (b) DI EER
(c) dad wH (d) SR F A PIg &
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158.

159.

160.

161.

162.

163.

164.

165.

Direct ranging in survey is dore

(@) When one line overlap into other

(b) When two ends of survey line are inter visible
(c) When two ends are not visible

(d) None of the above

Seepage force has the direction
(@) Upward side (b) Downward side
(c) In direction of flow (d)  Opposite direction of flow

The shape of rotary and gyratory screen are generally
(@)  Triangular (b)  Circular or rectangular
(©) Trapezoidal (d) None of the above

An “Archimedean screw”, is device used:for
(@) Totight a screw (b)  To measure electric current
(c) To lift water (d)  To lift earth material

For a given cross sectional area the hydraulic radius will increase with
(@) Increase in wetted perimeter (b) Decrease in wetted perimeter
(©) Increase in turbulence of flow (d) Decrease in turbulence of flow

Elbow joints are generally used-to
(@) Increase the pressure (b) Reduce flow
(©) Increase flow (d) Reduce pressure

Curvature of the earth is taken into account in surveying when the extent of the area is more
than—

(@ 50 kn?¥ (b) 100 kn?
(c) 250 knt (d) None of the above

In order to avoid the tendancy of separation at the throat in a venturitheteatio of dia at
throat to that of the pipe should

T (b) gty
(© S tog (d) 3toy
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158.

159.

160.

161.

162.

163.

164.

165.

SRNGE T A& fhar S g—

(@) 9 US V&1 O VT DI AR IRl B
(b) 9 Id D I RR oo H W fRwiE
(c) <9 94 & Il RR W e <

(d) SR H A BIE T

Rara g1 @1 feem el 8—
(@) SR B AR (b) = @ SR
(c) 4@ @ fesm A (d) 8@ o fen & fawa

el TG TR SiTell BT PR AMHAR IR BIdl o
@ o (b) g AT Aol
(c)  AHHIBR (d) SRIGT H A BIg &

TEh MRS T TN fhar Smar g—
(@ TP Ug &a D fog (b) fISTell @1 e A & forg
(c) UMl S8M & ferw (d) e yerd SeM @ forg

T 3 T SR I & oy =diy FFroar geiil—
(@) fufdm oRAm @& geq W (b) Fifad oR¥U & g W
(c) 9819 &I IUAT g1 W (d) 98@ P IUAT g R

PIET el BT SWHIA IR R /= & foru fhar <ram g—
(@) T99 9o B forg (b) Ya® # FH & foru
(c) vaE H 3§ & fory (d) <99 | N & forg

FIT ¥ o B ¥ Af¥E B U= gl Bl gl I N eI H @1 Sl g
(@) 50 T2 (b) 100 T2
(c) 250 fap.#12 (d) SR T A Pl 8!

T JgRIICR H I H S7NTd &l UgRT A 9 & oY oic & 14 3iR UIsT &
T U BT =AY~

1 1 1 1
(@) Eﬁg (b) gﬁz
1 .1 1.3
© 393 @ Sy
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166.

167.

168.

169.

170.

171.

172.

173.

174.

Which'of the following is not the characteristic of centrifugal pamp

(@) Capacity is inversely proportional to speed

(b) Horse power is the function of capacitead and &tiency of pump
(©) Smooth and even flow

(d) Adaptive to high speed operation

Pump is operating but not delivering watgossible causes are
(@) Pump head is too high (b) Rotation of driver is incorrect
(c) Pump speed is too low (d)  All of the above

About 90% of full strength of concrete is achived after curing of
(@) 7 days (b) 14 days
(©) 21 days (d) 28 days

The chain with 100 links and 100 feet length is known as
(@) Gunters chain (b) Engineets chain
(c) Metric chain (d) None of the above

The survey in which curvature of the earth is considered is known as
(@) Chain survey (b)  Aerial survey
(c) Compass survey (d) None of the above

The longest chain line in chain surveying is called:-
(@) Check line (b)  Tieline
(c) Base line (d)  All above three

Errors in surveying are:-
(@) Instrumental error (b) Personal error
(c) Measurement error (d)  All of the above

The bearing of line taken in the direction of opposite to the progress of work is known as:-
(@) Fore bearing (b) Back bearing
(c) Whole circle bearing (d) None of the above

Amongst various land levelling methods, the most common method is:-
(@) Plane method (b) Darcy method
(c) Contour adjustment method (d) Plane inspection method
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166. =1 § A P AT BT IR BT T g &l B
(@)  &Far sHS! AT B YSHAGUR §
(b) g R R BT & S &vdT, Y Ud 999 & Gera WR
() 9Id Ud UhAR Ydrg

(d) = g & fou e

167. UH Tl &1 & offdhd Ul -Te] dhdl I8 8, FwIfad dRoT 8ll—
(@) w9 Y 987 @ 2 (b) SRR & A SIF o 2
() U™ & =Tel 98 BH d) SR wd

168. ®INT & fha Al 91 wraie § o8 oIfdd &1 T 90 URIeTd red 8rar g:—

(@) 7 fArqc (b) 14 f&AT 91

(c) 21 fer e (d) 28 fe=r 91€
169. 100 foid 3R 100 Bic =TS dlell I BT HEd g—

(@ =g (b)  SoNfRRt ==

() #fgd == (d) SREdH F Bl &
170. 9% AIeI0T RTTH gl 1 Iehell BT 419 QT 1T & S PHEd 28—

(@) O derr (b)  =aTS HeTor

(c)  HHTH Haefur (d) SR F A Pl 8!
171, 9 IO § GIY TR I ST Bl hEd o—

(@ = e (b)  <1g g

(c) 99 oA (d)  SWRIaEd T

172, |deor § FfeA Ug AR T

(@ Sy @ Ffe (b) wfeTa Ffe
(c) = Ffe (d)  SwIEd W gfedt
173, |AETT ¥, B & WA B Idc! fawn § oy I oz &1 [T &1 ded -
() SPRECEIN (b)  ued fa™
(c)  Poiga feamr (d) SWE F Y PE T
174.  faf=1 YR & 4 FAdeM & RS H AWART AR TR TG 1S TINT B arell a¥iaT
o
(@ i faf (b) sr fafy
() P<x UsSuvcH=T fafg (d) i gauaad fafr
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175.

176.

177.

178.

179.

180.

The volume of earthwork in land levelling can be computed by:-
(@) Trapezoidal rules (b) Prismoidal method
(©) End — area method (d) Both (a) and (b)

The permissible depth of earthwork under land levelling work is about:-
(@) + 3cm (b) 4.5 cm
(c) 5.0cm (d) 10.0 cm

Orifice meter is used to measure:-
(@) Roughness in pipes (b) Roughness in open channels
(c) Flow in open channels (d) Flow in pipes

The depth from which the liquid has to be lifted by pumps is known as:-
(@) Suction head (b) Delivery head
(c) Velocity head (d)  Satic head

Relation between specific speedSX,Njischage (Q), Head (H) and velocity (N) for a pump
is given by:-

2NG/Q

(@ N.= (b)  N=""5
_ NBQ _ NyQ

© N="3 @ N="73

If Froude number of flow is ‘F’ inflow and outflow depths ar&yy,, then the jump
formula will be:-

(a) ﬁ:%( 1+8F2—1j () ﬁzé(m_lj

Y1 Y1
Y2 1148724 o 2=1(JieF? -4
©) y, 2 @ y, 2
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175.

176.

177.

178.

179.

180.

A & T | gl g5 el & SmIdd &I UM 1 7 ¥ e Al gRT @ ot
g—

(@) SUsarsd I\ ¥ (b) fIoea fafs g™

) TS wRar fafy gw (d) = (a) 3R (b)

A FAdET § e @ BRI @ AT Telg Sff [ AN &I S Al ©, 98 o
(@ + 337 (b) 4.5 9.

(c) 5.0 A (d) 10.0 {0,

I Hex BT JANT fobar Srar 28—
(@)  UTSY H TRERUF AU b forg (b)  Gell il # YRERUA AU & forg

(c)  gei foral H g=rg #a ¥ (d) dISY ¥ 98@ A9 |
U U gRT I8 TExTs oial W d dl $HUR oIl Siidl & SS9 $ed o—
(@)  guor o (b) o Ny

(c) Wfast <fid d) Rofger g

Ue o 1 fafme wifd (N FReRer (Q), 9 (H) Td ify (N) # wdfer §—

2NQ/Q
(@) N= (b)  Ng= HEL[
o) _NJQ

(C) Ns_ H% (d) Ns_ H%'

i WIS AT ‘F' € AT A dlel T S dlel 981d 1 TTevls y, 3R y, & a1 &did
IBTA & G &

(@) il,_i:%( 1+8F2‘1j (b) z—i%(m—lj
(©) %zé(“*%z“‘j (d) i—f%(m_g
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